
Corrige d ’Anglais — B6VC- 2012

A Grammar.

[T] Hope
[2] eight
[3] Slack

0  Toys 
|5] pear

[Tj On
[2] Worked 
|~3~| Until

[ i ]  Because 
[5] Were eating

You will probably arrive late unless you wake up early.
The teacher decide to punish the student for her bad behavior
I asked Mary whether she could lend me some money
You will not see him you apologize for insulting his mother. Or : you will not see him unless you 
wake up early.
We will be happy if she comes now.

B.Vocabulary.

[~§] Dentist [5] Out break/ epidemic/ di-
Company [4 ] W ater/ ju ice/ beer/ palm sease.
Scissors wine

II [2]  Railway station jjl] Class prefect
[T] Secondary j~3] Text book _5_ Razor blade.

C. Comprehension.
|T] W ater/ water is life/ the water cycle
|~2] The main stages of water cycles are : transfer of water to the atmosphere, condensation, precipitation, 

run-off, storage and infiltration.
[~3] Precipitation occurs when the water the water vapour int the air condenses and fails as rain, snow 

an hail
[¥] The effect of changing the hydrological cycle is that, it damage our fresh watter resources
[~5] The assertion that ’’water” means or explains the fact that all living creatures, plants, animals and 

human need water to survived
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